MIS 3200 Networking Fundamentals

Review Exercise

Q.1. Which of the following is true if in a wireless transmission using radio waves, 

          the distance between the sender and the receiver is to double?

a) There will be too much interference

b) The receiver will only get about half of the original signal strength

c) The receiver will only get about 1/3 of the original signal strength

d) None of the above

Q.2. Access points with multiple antennas or fan-shaped antennas used to be the standard in WLAN. Today, in most access point the fan-shaped and multiple antennas are replaced by internal electronic circuitry that has the same functionality as the multiple antennas. What was the purpose of the multiple antennas in access points?
a) Reducing the effect of EMI

b) Taking care of shadow zone issues

c) Amplifying the wireless signals

d) Reducing the effect of multipath interference

Q.3.  Shadow zones can be a major issue with wireless transmission. Explain shadow zone in wireless transmission and provide some examples of situation where it may occur.


	
	

	
	

	
	


Q.4. Laptops and cell phones that are in a particular hallway of a building with narrow alleys and tall walls are getting messages with high error rate or are experiencing higher data loss than wireless computing devices located elsewhere in the building. The company’s IT staff investigated and realized that the nearby communication tower that forwards messages to all wireless devices in the building is working properly. They also realized that there is no sources of signals in the building that may generate signals which may interfere with signals coming to the devices located in the hallway. No other laptops or cell phones in the buildings except the ones that are in that particular hallway are experiencing the problem. Which of the following may be a possible reason for those errors?

a) This is likely to be electromagnetic magnetic interference or EMI
b) This is likely to be the result of message alteration attacks

c) This is likely to be the result of multipath interference

d) None of the above

